N HTHIRIKEE

(R TTE LABE) SM7E50 1 AEE

(S0 KEA Err (BTT) Err (&) BERR
H1.8.1 E EEFHT3 1 RTRAK
H3.9.19 BEE18S TEEFHT3 1 R TRk
H3.9.19 BEE18S TEEFHT3 1 R TRk
H1.7.26 =0 TEEFHT3 2 R TRk
H1.8.1 =0 TEEFHT3 2 R TRk
H3.9.19 BEE18S TEEFHT3 2 R TRk
H3.9.19 BEE18S TEEFHT3 2 R TRk
H1.7.26 E EEFHET3 3 R E=RAK
H1.7.26 =0 TEEFHAT3 14 PR EZ7K
H1.8.1 = TEEFHAT3 14 PR 27K
H1.8.1 = EEFHAT3 14 PR EZ7K
H3.9.19 BEFE18S TEEFHAT3 14 R TRk
H3.9.19 BEFE18S TEEFHAT3 14 R TRk
H3.9.19 BEFE18S EEFHAT3 14 R TRk
H4.7.15 =0 TEEFHAT3 14 R TRk
H1.8.1 = TEEFHAT3 15 PR 27K
H1.8.1 = WEEFHAT3 15 PR EiZ7K
H3.9.19 BEZE185F WEEFHAT3 15 R TRk
H3.9.19 BEZE185F WEEFHAT3 15 R TRk
H3.9.19 BEZE18S WEEFHAT3 15 R TRk
H3.9.19 BEZE185F WEEFHAT3 15 R TRk
H3.9.19 BEZE185F WEEFHAT3 15 R TRk
H17.9.4 - EEFHET3 15 R TRk
H17.9.4 - EEFHET3 15 R TRk
H17.9.4 - EEFET3 15 R TRk
H17.9.4 - EEFET3 15 R TRk
H18.9.11 - WEEFHAT3 15 R TRk
H18.9.11 - WEEFHAT3 15 R TRk
H4.12.8 = WEEFHAT3 15 R TRk
H1.7.26 = WEEFHAT3 16 R TRk
H1.8.1 = EEFET3 16 R R7K
H1.8.1 = EEFET3 16 R R7K
H3.9.19 | &A%18= EEFHT3 16 R T =K




N HTHIRIKEE

(R TTE LABE) SM7E50 1 AEE

(S0 KEA Err (BTT) Err (&) BERR
H3.9.19 BEE18S TEEFHT3 16 R TRk
H17.9.4 - TEEFHT3 16 R TRk
H18.9.11 - TEEFHT3 16 R TRk
H18.9.11 - TEEFHT3 16 R TRk
H18.9.11 - TEEFHT3 16 R TRk
H3.9.19 BEE18S EEFHT4 2 R TRk
H1.8.1 =0 EEFET4 4 R TRk
H1.7.26 =0 EEFHT4 7 R TRk
H1.8.1 =W EEFAT4 7 R TRk
H1.7.26 =0 EEFAT4 11 R TRk
H1.7.26 = EEFAT4 12 R TRk
H1.7.26 = EES 13 PR EZ7K
H1.7.26 =0 EEFAT4 20 R TRk
H1.8.1 = EEFAT4 20 PR 27K
H17.9.4 - EEFHET4 20 R TRk
H18.9.11 - EEFAT4 20 R TRk




